DEWAN PUBLIC SCHOOL INTERNATIONAL, MEERUT
KANWAR BREAK ASSIGNMENT
SESSION:2018-19

CLASS-VI

Note:-Attempt the given assignments in your subject
notebook

ENGLISH

Q.1. Attempt unseen passages in B.B.C Compacta (Pg no. 210 to 216)
Q.2. Attempt exercise of Adjective in BBC Compacta (Pg.no. 151, 152)

Q.3. Write 10 proverbs with their meanings and make one sentence by using the
proverb.

Q.4. Do informal letter in BBC pg 65, 66
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MATHS

Q1. Find the difference between the smallest number of 7 digits and the largest
number of 4 digits.

Q2. A car moves at a uniform speed of 75 km per hour. How much distance will it
cover in 98 hours ?

Q3. The product of two numbers is 504347. If one of the numbers is 317, find the
other.

Q4. 1dozen bananas cost Rs.29. How many dozens can be purchased for Rs.1392 ?

Q5. The cost price of 23 colour television sets is Rs. 570055 . Determine the cost
price of each TV set if each costs the same.

Q6. A car travelled 60 km to the north of Patna and then 90 km to the south from
there. How far from Patna was the car finally?

Q7. Subtract the sum of -1050 and 813 from -23 .
Q8. The sum of two integers is 65 .If one of the integers is -47 , find the other.

Q9. Find the products : (i) 8 x 7x (-10) (ii) 2x (-5) x (-6) .

Q10. Divide: (i) -72 by 18 (ii) -80 by 16.

Q11. Find the difference between the smallest number of 5 digits and the largest
number of 7 digits.

Q12. Find the product of the following by using suitable rearrangement.
(i) 4563 x (-25)x 4 (ii) 4253% 50 x (-2).
Q13. Subtract the sum of -636 and -987 from 24.

Q14. Ravi opened his account in bank by depositing Rs. 136000 , Next day he
withdrew Rs. 73129 from it. How much money was left in his account ?

Q15. Find the value of each of the following using various properties :

(i) 647 x 13 + 647 x 7 (ii) 875994 + 8759 6.




Q16. Find the product by using distributive law :
(i) 740x 105 (ii) 996x 367 .

Q17. A dealer purchased 139 VCRs . If the cost of each VCR is Rs. 24,350 , find
the cost of all sets together.

Q18. The product of two whole numbers is 0. What do you conclude ?
Q19.Find the largest six digit number divisible by 16.

Q20.What least number must be subtracted from 13,801 to get a number exactly
divisible by 87 ?

Q21. Write all the integers from -6 t0 6 .

Q22. Add -36 to the difference of -8 and -68.

Q23. Write four integers less than -6 and four integers greater than -6.
Q24. Simplify : (-24)x(68) + (-24)x 32 .

Q25. Find the sum of : (i) -3057 and 199 (ii) -36 and 1027.

SCIENCE

QL. Collect some leaves. Wrap them in a newspaper. Place a heavy book on them.
Take out the leave after four days and paste them in notebook.

Q2. A ship that is made of iron floats on water whereas an iron nail sinks. Why?
Q3. How will you separate sand and water from their mixture?

Q4. Lemonade is prepared by mixing lemon juice and sugar in water. You wish to
add ice to cool it. Should you add ice to the lemonade before or after dissolving
sugar? In which case would it be possible to dissolve more sugar?

SOCIAL SCIENCE

» Attempt map no.:-13 & 14 in map book
» List out the Fundamental Rights and give a detailed explanation of each.




